BC-02
June — Examination 2024
B.Com. (Part I) Examination
COMMERCE

(Business Statistics)
Paper : BC-02

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

T - o' yy-T ‘e, ‘e e ‘E i woel § fawifea 7
ToF TUE  FEVHER T # Sw iR

Section-A 7x2=14
(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) What is the meaning of Statistics ?
Hifert &1 o1 w2
(i1)) What do you know about secondary data ?
fodiass oo @ @9 o= W € 2
(ii1) Define Regression.
JATTTHA ohl gRIfe it
(iv) What is Mean Deviation ?
e e o ¥ 2
(v) What are the assumptions of Business
forecasting ?
eI JATTAM i HAd F 2
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(vi) What is the formula of seasonal variation

index ?

o

st foeror e w1 g3 w2

(vii) What is the classical approach of probability ?
Wfshd w1 gfafteq STauRen 9 T 2
Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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2. Explain the different kinds of statistical series.
fafs= &R =1 wifersa S w1 =men Hifvg
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3. Compute arithmatic mean from the following

data :

/= gus ¥ TurR T fAefag .

Size

50-59

40-49

30-39

20-29

10-19

No. of item

5

8

12

4. From the following data,

calculate standard

deviation and its coefficient :

=1 Tt & 9o fo=e 9 SH®T [N T HiST

Wages in Rupees

No. of Persons

48 and above 5
40 and above 15
3240 20
16-32 45
8-24 32
Less than 16 20
Less than 8 8
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. What is Skewness ? What are its type ?
foomar F1 § ? $HS TER F T ?

. What do you know about concurrent deviation

method of correlation ? What are its features ?

Tegay &1 g fagem Afd & IR § M9 F S
T2z @ AT ?
. Construct two regression equation from the below

mentioned data :

= o ST ¥ S T THIRON Sl g RIS

X 3 8 7 2 10
Y 9 11 5 8 7

. Discuss the importance and use of index numbers.
YT 1 ST T Wew WX wE Aoy |

. Find the probability of getting the total 8 when
two dices are thrown at a time.

T UW TH Y Bhd W § HT AN 3T I HIfFehar
M@ It |
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Section—-C 2x14=28
(Long Answer Type Questions)
Note -— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
gug—d
(& s ue)
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10. From the following information, calculate the
production in 2023 by using least square method :
=1 gemsti | 2023 ®1 Sced =Aad o dfa
TART 'Y IREQIG LI

EL| 2018 | 2019 | 2020 | 2021 | 2022
IcqreA 8 10 15 13 14

11. What is the meaning of weighted index number ?

What are the types of weight ?

Ikd ek 1 N AaeE § 7 IR & THR F § ?
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12. What do you understand by Dispersion ? What is
the need of calculating a measure of dispersion ?

AR § A9 T GEEd © 7 SAURIO s HIGA Rl
@ L I FA AEIIRAT & ?

13. What is Skewness ? How is it measured ?

foroman = © 2 3@ %Y AT S § 2
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